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CALCULATION AND RESPONSIBILITY FOR PAYMENT OF BENEFITS

Average Weekly Wage for all employers is (E) divided by (D) = $
(See the Benefit Rate Table that coincides with the date of injury.)

Total incapacity compensation rate for this AWW = $ (F)

Average Weekly Wage for responsible employer is (B) divided by (D) = $
(See the Benefit Rate Table that coincides with the date of injury.)

Total incapacity compensation rate for this AWW = $ (G)

Amount of compensation to be contributed by the Second Injury Fund (Form 44) is (F) minus (G) = $ (H)

Responsible Employer

Address

City/Town State

Zip Code Tel.#

Gross Wages earned from this employer during weeks of concurrent employment = $ (B)

WORKSHEET
Calculating Concurrent Employment / Second Injury Fund Responsibility

(C.G.S. § 31-310)

If the injured employee was working for more than one employer on the date of the injury, the employer in whose employ he/she was injured is
responsible for (1) all medical costs and either (2) the entire weekly compensation rate (if wages earned from this employer entitle the injured
employee to the maximum compensation rate) or (3) a pro rata portion of the weekly compensation rate based on the calculations below.

Only wages earned during the “weeks of concurrent employment” listed below (A) can be used in the calculations.

Weeks of Concurrent Employment:

from to Total number of weeks = (A)
(MM/DD/YY) (MM/DD/YY)

Concurrent Employer 1

Address

City/Town State

Zip Code Tel.#

Gross Wages earned during weeks with Concurrent Employer 1 = $

Concurrent Employer 2

Address

City/Town State

Zip Code Tel.#

Gross Wages earned during weeks with Concurrent Employer 2 = $

Add TOTAL Gross Wages earned from the Concurrent Employer(s) = $ (C)

TOTAL GROSS WAGES

Total number of weeks worked concurrently for all employers listed above (same as A) = (D)

Total Gross Wages earned from all employers during period of concurrent employment is (B) plus (C) = $ (E)

Employee Name:
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